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Calculator test L4/5 test 3a


Write the largest whole number to make this statement true


1)            + 50 ‹  73


2) Circle the numbers that add up to 100


64	32	16	8	4	2	1


3) Coconuts= 78p each Bananas £1.20 for 1kg


� Josh buys one coconut and half a kilogram of bananas.


How much does he spend altogether?


4) Oranges cost 25p each. How many oranges can Josh buy for £1.50?


5)Each missing digit in these calculations is 2, 5 or 7


Write in the missing digits.


You may use each digit more than once.


��  x  3  = ��


� + 18 = ��


 6) Josh thinks of a number


He adds 4. He multiplies his result by 3. Then he takes away 9. His final answer is 90.What number did Josh start with?


7)  Write all the factors of 30 which are also factors of 20


8) 17 multiplied by itself gives a 3-digit answer


�


What is the smallest 2-digit number that can be multiplied by itself to give a 4-digit answer?


�� x �� = ����


9) 7.4	    8.1	9.4	10


Which two of these numbers, when multiplied together, have the answer closest to 70?


� 
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